ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonimp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-~5156-57.dwg

® @“fﬁug“u vy
Lo et B S 0
Fs i54 G- .8 zZ=c
4 Iy : . [N O M (4]
A, 7 20 > Z z .1
DOORS B L gt
2 HTH b )
e~ P c ph- JEL 3
G O g§ 92 22
LA 10 e 5.‘5% oo
i a0 > hBge gk
Classic-Craft. e F O s 2 B
R & 8d i K9
o o xz K
® Za o O
R
Y Reg g
:
108.5" MAX. O.A. FRAME WIDTH s § ¥
155" E & BB
OPAQUE FIBERGLASS DOUBLE DOOR 74.5' FRAME WIDTH FRAME 8
T‘\-(P WIDTH
w/ SIDELITES | e B
SO
i 7_, =
INSWING « | 45
"NON-IMPACT" 28| 2k
<8 |3 &8
=3 |2 gy
L &
i 17
. o |2 2z
<z 5l % el 93
(34 - © D'U')
= 3 S
Tuw 2 E a
== o o
RE -
m
EVALUATED FOR USE IN THE STATE OF TEXAS
The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject fo the following conditions: 4
. . . @]
1. Anchors shall be s listed and spaced as shown in the details. Anchor embedment to R S %}
base material shall be beyond wall dressing or stucco. Q
2. When used in areas requiring wind-borne debris protection this product is required to be
protected with an impact resistant covering that complies with Section R301.2.1.2 of the
IRC and Section 1609.1.2 of the IBC.
3. Allowable design pressure requirements must be equal fo or less than the design pressure
rating shown in the design pressure chart, sheet 1 of this drawing. E
4. Conditions not covered by this drawing are subject to further engineering analysis. =
o
TABLE OF CONTENTS 2X DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF) =
SHEET # | DESCRIPTION SHEET # CONFIGURATION | REINFORCEMENT |  ASTRAGAL w/ FJ PINE JAMBS w/ COMPOSITE JAMBS DATE: 1/06/21
] Typical Elevations, Design Pressures & General Nofes & | Verfical Cross Sections REQUIRED POSITIVE | NEGATIVE | POSITIVE | NEGATIVE ScAE:  N.T.S.
2 Door Panel Details 7 Frame Anchoring DWG. BY: RW
3 |Sidelite Panel Detais 8 | Hardware Details NO stanpArRD | +30.0 -50.0 +35.0 -40.0 oHk. B LFS
4 Elevations 9 Bill of Materials & Components OXXO DRAV.JING. NOw-
5 | Horizontal Cross Sections YES COASTAL +45.0 -50.0 +40.0 -45.0 TX— 5 157
SHEET _] oF _9

© 202171 R.W. BuiLDING CONSULTANTS INC.



Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonimp IS Dir Set Sidelites (TX 5152-5157\C - Drawings\TX-5156-57.dwg

- ui
0] g’(:\:\?k\?:{’ : N
| et ]-48“ 4 ]" [ ].39 4|| ‘é::;;;\_;g - f }‘1 13 ":g »
’ " LI— | e ) 41" ':‘-:-V co...u"’s :: o 9 r o
0.4" [—— t.<__ ‘>1 e 0.4 0-3] t—'— _>1 0'\' ] ;?Q-}.?.:.o’ § 3 ‘%* é’; g g
T 355 i 9 T
S M TS b B I H 9’:’:@% oo 223 o
- -~ N & = SO PN i £y dhbo g%
NN S = B S Sui ¥z §§ £s2 2
=N - N ‘ N RSt N oL, i9 5 Bi8 ok
l R R N oo , 1 Qe iZ L g>r HE
| l / \ / kx> Zgn &b
/ \ / b Mahidee® & o%y &g
OAKCAP  HINGESTILE LOCK STILE OAKCAP ~ OAKCAP  HINGESTILE LOCK STILE O»C’c()gg ‘ 3 9%% i,
(WOOD)  (ENG. WOOD) (ENG. WOOD) (WOOD) (WOOD)  (ENG. WOOD) (ENG. WOOD) (WooD) 2 3.8 o
& oo &<
o
/ 1"\ HORIZONTAL CROSS SECTION @HOR’ZONTAL CROSS SECTION s §t§
o
\2/ : x4
8
36.0" MAX. 35.813" MAX. 35.813" MAX. 9
~— DOOR —] ~— DOOR —» ~— DOOR —= x | =
PANEL WIDTH PANEL WIDTH PANEL WIDTH 28 L
2 Lk
Li-‘(b G|
! —TOPRAL—__ _{ o9
i { {COMP.) 1 | . gl & x g
3 P 3 -
, o o
1N 2 2 ——roamcore— : =
= N b A4 = A4 .
2 2 Y, 2
L il i}
= x I
: g :
= i = . = -
oz in o in o 0
3 T8 T8 T 2
3 ol t 8 ol t B ol 1 5
3 3 3 >
g X ® g X © § X ® f ; ml
o P v T T——FBERGLASS— ||
T T SKIN ’
<C
= _ [
> =y
o o .
|[> > > © | ——somomrAL— | © S
COMP. ,
‘______DOOR PANEL DOOR PANEL DOOR PANEL ? ( ) N | bATE: 1,/06/21
BOOK Hybrid Door U1 Door —~—1. scae:  N.T.S.
DWG. BY: RW
"Classic Craft" SERIES DOOR PANEL T
assic Cra 3"\ VERTICAL CROSS SECTION /4 \ VERTICAL CROSS SECTION  [PR¥e o
FIBERGLASS DOOR SKIN: 0.125" MIN. THK. 2/ 2/ TX—5157
FOAM CORE: POLYURETHANE FOAM (1.9 PCF MIN.) o 2 o 9

© 2021 R.W. BuiLoing CONSULTANTS INC.



7\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5156-57.dwg

et ui
112 S ki v oy
=] |=—1/2" GLASS BITE S neiQ1 Y 53 2 o
L £ & w
- L& e g -g 0 Z -
N 10 v Y84 87
i ey e 20 2l
dOi YA fw fE2
G1(G2 PVC INSERT SRS 5 £330 3:
—— 1" O.A. THK. GLASS 0L, 9] 5 538 pe
BACKBEDDING M 5 1o 2o QE
COMPOUND ™| 3/16" TEMPERED —=!  |=—1/2"GLASS BITE Pofnien™ &  ONg By
\ / GLASS B Z4, PN
X a 256 8
18 GA. X 1" BRAD NAIL \ % £ RBed gk
- 1l mn=
) o roc ]TQEFQ:EA?F'}AE!E;\JDS N ARSPACE PVC INSERT : D E
e ( \ —— 3/4" O.A. THK. GLASS N §8
/ 3/16" TEMPERED BACKBEDDING 2 a
BACKBEDDING GLASS COMPOUND ™| 3
/ 1"\ HORIZONTAL CROSS SECTION COMPOUND STEEL SPACER v e
3 GLAZING STOP (7/16") GLASS
\3/ 18 GA. X 1" BRAD NAL S "
" GLAZING DETAIL (LOCATED 1-1/2" FROM ENDS AIR SPACE z
15.5" MAX. Gl y « =
1" Insulated Glass & 4" O.C. THEREAFTER) S
FRAME WIDTH ; S &
3/16" TEMPERED 28
13" MAX. . GLASS i
A BACKBEDDING 1o |3 B
WL v |4
; COMPOUND STEEL SPACER §§ o &
3y
i GLAIZING STOP (7/16") = =
@ GLAZING DETAIL 2 2
3/4" Insulated Glass 2 E
o 0.
10 >
3/~ =
= T
=5 AIR SPACE AIR SPACE
m £ 3/16" TEMPERED 3/16" TEMPERED 3/16" TEMPERED 3/16" TEMPERED
w GLASS GLASS GLASS GLASS
ot
< )
2 o O 5
ﬁ g %\ aQ 2 3 72}
2 5 EXTERIOR # INTERIOR 1"O.A. THK. GLASS —] - 3w 3/4" O.A. THK. GLASS < =
o N OF OF o
E§ o o™
STEEL SPACER = STEEL SPACER =
GLAZING STOP L 4 GLAZING STOP . |
(7/‘! 6") (7/] 6")
? p
S
BACKBEDDING BACKBEDDING
SIDELITE COMPOUND SIDELITE COMPOUND o
ADAPTER ADAPTER =
DATE: 1/06/21
1) SLAZING DETAIL @ GLAZING DETAIL SCAE N.T.S.
" Insulated Glass 3/4" Insulated Glass DWG. BY: RwW
CHK. BY: LFS
2\ VERTICAL CROSS SECTION BRAWING 6.
2 .
’ SIDELITE PANEL 3/ 1X—5157
SHEET _ 3 oF _9

© 2021 R.W. BuiLDING CONSULTANTS INC.



CONG SENVLINSNGOIJ aNIging "m'sd L1202 @

ZGeLi—d4 # NOLWVMLISIONN 40 ILVOlILNID SNOISIAFY
SHIINIONI IWNOISSIH0Md 40 QuVOE SvXEL SNOILVAT T3 Ad 41vd [ON|— =|v 9_
cnaar . N ke N
L616'6G9°CLR "ON auoyd : . v
GBGCEC ™4 OSUIDA OFZ Xod .0.&&@. ATENESSY 0 Ldvd W M R <3 ]
*ONI *SINVLINSNOS ONIGTING ~ g | 4_
400a SSY1943414 N EAEIERS
CZLPOL# "F'd SvXal N1L—~VYAYIHL i . £ &
‘A'd WDILIYos 4 uopuf :Ag pedpdeld sjuswinosoq 10NaoHd b3 m W w %
Py
=)
@
Lol
it
o oe
1 ELY
N
[TE )
=S
<<
=z Z
3|00
rig- S B
L 21,8
A A | o
oSz
¥ ol ao
il
e | &
3 | 2
=
o <

/
W

qa
Va
O

SEE HARDWARE CHART

ELEVATION
OXX0

Classic Craft Door Panel Opfions
Panel options shown are for ilustration and are representative only
{similar opaque panel configurations are allowed)

Bmp'25-9515-X1\sBumesg - D\(ZS5L5-251S X1) S3H[BPIS 185 4t S| dwiuoN D4 anbedO 3D .8 78 .L '8.9 - XXX ¥Q - 1QL\suj Jo 1da( sexsy - E\LNINVINYId NiL euLsy[\sualD\Z



TON SANVLINSNOD anNiaing "M's L 2o2 @

zGBLL—4 # NOLVMISIOEM 40 3ILVOL4ILN3ED SNOISIASY
SHAINIONT TVNOISSIONd 4O QHvOd SvXaL mzm&ﬂu%umwmmo Ad 3Lva TON| — =0l ~ 9_
rreare i o NIz
LBLE'ESO'ELE 'ON 8uoyd : : 0
GBSEC 14 OOWIDA 0CZ Xog .O.mgg TATENESSY MO Ldvd W _M e .5 &
"ONI “SINVLINSNOO ONIGTINg Y g | 5_
4000 SSvY19438l4 = |8lEle X
SZLPOLF "3'd SVYXIL NAL—VYANAIHL 2 w olx|2 &
A'd IPIUYDS 4 UOPUA]  :hg pedodeld sjpuswinood 110Na0Yd SI8I1ElS m 5
Je /L

o 1/ @
2 3
: ® &
_® g
R R “® &
. m_ 2
o :
// p] B
7 9, 2
o CE
L o ¢
g )
-
@ & ©
S
m i
= z
@ :

1/ m
@ /]

9

l
2

© @

/3" HORIZONTAL CROSS SECTION

\y Shown w/ 2X Reinforcement

e ¥ P oo

A\
W

illg
et [DRY ’

/1 "\ HORIZONTAL CROSS SECTION

DS

% % / EXT. SHEATHING

A\
A\

DS

EXTERIOR
INTERIOR

Bmp'25-9515-X1\sBuimesq - D\(£§15-2515 XL) SaN[@pIS 185 11 S| dunuoN D4 anbedO 1,8 18 .L '8,9 - XXX ¥Q - 1L\su} Jo 1daQ sexa] - \LNINVINYId NiL BWIRY\SIUSID\Z



"ONE SANVLATINSNGOD aNiduing "M Lg0g @

ZSBLL—4 # NOLVHISIORM 40 3LvOLdILyID SNOISIASY
SHIINIONT TYNOISSIJONd 40 G¥vOS SVXIL mzow\.«o%mmw\momo Ad EIV/CEe]\] P =ln] ~ 9_
el g e NIIHEI
LBLE'6E9°ELE * ; . 0
SBGOC 14 OOMIDA FMnNouomm:M“M\&\w@u CATENESSY H0 Ldvd W m e .5 &
*ONI “SINVIINSNOD oNIgTing N g 1 6_
H00a Ssvy19y3ald = |&lEle X
CZLYOLE “I'd SYXAL NAL—-VYNHFHL o gi M slylE m
F'd IPHUYDS 4 uopull Ag pedodedd sjuswnooq 10Nao0Nd = g W nHu W %
w w
o 5
=z Q O
i 9 z
72 O O <
T O O
<Ya) &
S 3 o
& )
& 3
ac
O
. M —
Dm V'S
Ny : B
SE
8 mw
ol
2 o ®
o 9 5
o‘ = =
= QO
[ru} (3%
& >
* a3
o
o
O
BN -
= <<
1
P
iy
— p 5 >
\ ® &
\ \ m ~Njo
=
<
z
Y
(o4
(o]
(¥ 9]
I3
o
Qo 2z
58
o =~ 8
x “o)s
O )
. @ S
oc
(&)
2 3
£ y V'S
i Mkm bl C
T i's
. S Wiz
T - >c
) m v~ ks
S
: N . &
B \
W e e e I " 2 m~
m : @  ;
o [NE}
£ g < 9
&~ & 0z (3) &
N 2 O i
,,, ; ®
> \ ~ 9
% %23
& 3
3 2
8 7
£ BN <
3 \ \ &
< >
8 4
o
S : O mw
o z &
5 Z 2
3 3 5 =
[ap)
3 (®
o~
™
3k
=
°
O|=
Bl
Zl=

BMp'25-951G-X1\sBuimelq - D\(Z5LG-251S X1) SBU[PPIS 185 4t SI dwijuoN D4 enbedO DD .8 18 .L '8.9 - XXX ¥d - 1QL\su Jo 1daq sexay - G\LNINVINYId NiL BULIBY\SIUSIDNZ



i
STy "
g%‘ﬂ ' Q E‘ ‘ij\;}‘) { § g 0 & o
: Pt PO 5= BN EX g u®
4 ‘}V“. S s .’0 G . 0 z
| F7, 18 Ay $B gy
i g0 wd E gy G
"4 3 5 O HITE: : 5% E‘ug 4%
*——T , (3) #8x2-1/2" Any iz q S8 Z280 33
PFH WS S, 191 5 538 g
G, 1 o "
L 300\/ JAMB TO HEAD DETAIL Qf g b . Zan b
(TYP)) RRINERCEIRS & of; EB
/i - b 2 § = Su
II ol A [ o
TOE-NAIL DETAIL @ HEAD g % S g B
TYPICAL @ EACH 2X REINFORCEMENT & § 8¢
ASTRAGAL JAMBS/MULLION £ 9E
E 1
K ” 4" (TYP) 4'(TYP) ; po
4' (TYP) ﬁ 4 (1vP) - .//@ | -
i !
I I T [ T 1 T T[T 1
— |- I - T o
L 20 o
|| SEEDETALT = Sl I
_ | (SHEET 8) I = 32 |5 fé
— — = (vl [11]
HEAD & JAMBS *° W |13 w
l 1 =Ly 0| =
m <
(TYP.) ' L& |9E
= 14
- - ] L - =N
P | | b
>_.
2X FRAMING —_— | | P
(TYP.) I
H
_ || BACK-TO-BACK I _ |
L i 2X REINF. 2
e l (TYP.) G >
DOOR FRAME N Og S|
TYP. - - WOOD Q - - he
(TYP.) 1 seepErAL2 ~ *
CONCRETE Q I (SHEET 8)
SILL I \
- - (TYP.) ¥ - W7
P ] ~ 1 I bkt %
_ 0 9]
’._..
% T-»l £ (Tvp) AN =<
| =P .
OXXO WOOD @ \ y ——{ e
CONCRETE o } oaTE: 1/06/21
WOOD S SCAE: N.T.S.
(TYp.) e DWG. BY:  RW
CONCRETE o CHK. BY: LFS
TOE-NAIL DETAIL @ SILL DRAWING O
FRAME ANCHORING TYPICAL @ EACH 2X REINFORCEMENT TX~5157
SHEET _/ ofF _9

ZA\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TDI - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5156-57.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.



TONY SINVAITINSNGD 9NIgHINg "M 1202 )

ZG8LL—4 # NOUVMISIOFN 40 ALVOLLNED SNOISIATY
S¥IIANIONI TWNOISSIJONd 40 QuvoE SvXaL STIVLIA FHVMONVH Ad 31vd [ON]~ =ln] ~ 9—
rogoLa o N E
LBLE'BS9CLR TON suoyg : N v
G6SEC 14 OSUIDA 0£Z Xog ‘O'd Sg ‘ATBN3SSY HO 1dvd ) _M ~ a3 &
‘ONI ‘SINVLINSNOD ONIgTiNg < . 2 1 8~
4004 SSY19438I4 = B &l &
CZTIYOL# ‘T'd SYXIL NAL—YWIHL B w olx|Z &
F'd IPILYOS 4 COUCXA u\Am UO..DQOL& siustunodo(g "PUDQOMQ M. b W m m m
\Q \..\ ,.h

mwﬁ\éw ..

,4\,\ sz
aessaceeis PYYTTOIR 9 w:” Q
LQIWHOS 4 NOONAT 7 3
ek A O
Mﬁmp, Sy & =20
0, / Sl & 23N S]
PR %. f%‘: LR J\\U( nV/A_ M
ﬁ.?.m 40 W}Wuf o @
TR L LR
- . =
<
\ !VA\ / ~] m
QNW M - o
=
I 1 =
o 8|
0\& JO/V@
[S K3
5
Qo
g ¢
= O
o e
/i ®
[
5
[« 1N
[0}
s e No=
— : ; ; ; —f 3 .e\ =z 5
__ At & At Aar) h S R
G D -0
_ _ V10 dOL ~— oﬂ%m mNIL 2
% T WO .E1'8 " m

SEE HINGE
DETAIL
(TYP.)

(S'1F) .09 _
5 i«

[ - ]

LATCH & DEADBOLT STRIKE DETAILS

ASTRAGAL
Latch & Deadbolt

=N
DETAIL 1

Coastal Astragal Strike Plate @ Head

SEE LATCH
& DEADBOLT
DETAIL

\

A\
AL

@
@

|
|

LATCH & DEADBOLT DETAIL
Schiage / Kwikset

(28)
(25 ——

Bmp'1§-9515-X1\sBuimeld - D\(£5LS-251S X1) SeHIBPIS 395 41 S| dwUoN 94 anbedO DD ,8 79 .L ‘8.9 ~ XXX ¥A - 1dL\su] j0 1daq sexa] - \ININVINYId NiL BUIBY\SIUSIID\Z



Z\Clients\Therma Tru PERMANENT\B - Texas Dept of Ins\TD! - DR XXX - 6'8, 7' & 8' CC Opaque FG Nonlmp IS Dir Set Sidelites (TX 5152-5157)\C - Drawings\TX-5156-57.dwg

BILL OF MATERIALS

ITEM # DESCRIPTION MATERIAL
B | 2XBUCK (G >= 0.42) WOOD
C | 1/4"MAX. SHIM SPACE -

D |1/4"PFH DeWALT OR TW CONCRETE SCREW STEEL
F__ | #10 X2' PFH WOOD SCREW STEEL
L | #10 X 2-1/2" PFH WOOD SCREW [1.15" MIN. EMBEDMENT) STEEL
Q | #10 X 3" PFH WOOD SCREW {1.75" MIN. EMBEDMENT) STEEL
R | 3/16'X 3-1/4' TW CONCRETE SCREW STEEL
X | 2X REINFORCEMENT (SG = 0.55) WOOD
1 | WOOD JAMB (FINGER JOINT PINE ) WOOD
2 | COMPOSITE JAMB COMP
7 | WEATHERSTRIP FOAM
8 | DOOR SWEEP VINYL
10 | #10X 1-1/2° PFH WOOD SCREW STEEL
19| STANDARD ALUMINUM ASTRAGAL ALUM
20 | COASTAL ALUMINUM ASTRAGAL ALUM
22 | #8X 3/4 PFH WOOD SCREW STEEL
23 | #9 X 3/4" PFH WOOD SCREW STEEL
24| #9 X1" PFH WOOD SCREW STEEL
25 | #8 X 1-1/2" PFH WOOD SCREW STEEL
26 | #8 X 5/8" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
28A | DEADBOLT SUB STRIKE PLATE STEEL
29 | 4'X 4" HINGE STEEL
32 |INSWING THRESHOLD ALUM/COMP
33 | INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
40 | DOOR PANEL [BOOK] )
41 | DOOR PANEL (HYBRID) ;
42 | DOOR PANEL (UT) -
50 | SIDELITE PANEL -
80 | ASTRAGAL STRIKE PLATE STEEL

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the comers may be adjusted to maintain the min.

edge distance to mortar joinfs.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

Imw " o "
TAPCON 1/4 1-3/4 2 4
DeWALT - " M o

uLtRACONE] /4 1-3/4 ! 4

”w " ul ul 17

TAPCON® 3/16 1-1/4 3 1-1/2

—

WOOD SCREW INSTALLATION NOTES:

. Mainfain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitfing of wood.

0.75"

i 4.56" ‘

! 2.36" !

< : > WOOD JAMB

32 INSWING THRESHOLD

Adjustable Composite Sill

2

FLUSH BOLT
RETAINER

—|=~—0.063"

@ STANDARD ALUMINUM ASTRAGAL

AT

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

‘-‘———~r— 1.25"

4.56" i

212"

@ COMPOSITE JAMB

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FlL. 33595

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

e

SIDELITE
ADAPTER

2.46"

5.83"

33 INSWING THRESHOLD w/ SIDELITE ADAPTER

Composite Sill

197" —

-

FLUSH BOLT

FLUSH BOLT
RETAINER

|

N

—=||~—0.063"

=—0.126"

@ COASTAL ALUMINUM ASTRAGAL

2.48"

S ]

[ wny
£ 22
S =z
s i
len o ';;:%
2 {7 =4
23 (D =
Lo = O
& wl OO0
En |2
o |2 I
5 5 (g ®
3 c
S kE
& P
>
mn
172
z
)
2
i
L)
<
o
o
Zz
oATE: 1/06/21
seate: N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX-5157

SHEET 9 oF G

© 2021 R.W. BUILDING CONSULTANTS INC.




